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QUESTION BANK 
MATHEMATICS 

CLASS X 
UNIT-7 

 
कथन: कारण Ĥकार के Ĥæन  (Assertion-Reason type questions) (01 Mark) 

 

Answer Options (उƣर ͪवकãप) 
(A) Both A and R are true, and R is the correct explanation of A.  
      A और R दोनɉ सहȣ हɇ, और R, A कȧ सहȣ åयाÉया है। 

(B) Both A and R are true, but R is not the correct explanation of A. 
       A और R दोनɉ सहȣ हɇ, लेͩ कन R, A कȧ सहȣ åयाÉया नहȣं है। 

(C) A is true, but R is false. 
      A सहȣ है, लेͩ कन R गलत है। 

(D) A is false, but R is true. 
               A गलत है, लेͩ कन R सहȣ है 

S. 
No. 

Assertion  Reason  

1 

The mean of a data set increases by the same 
value when we add a constant to all 
observations. 

यǑद हम सभी Ĥे¢णो मɅ एक अचर जोड़ते हɇ, 
तो आंकड़ɉ के समूह का माÚय उतने हȣ मान 
से बढ़ जाता है। 

The mean is calculated as the sum of 
observations divided by the number of 
observations, so adding a constant to all 
observations increases the sum but keeps 
the count unchanged. 

माÚय कȧ गणना Ĥे¢णɉ के योग को 
Ĥे¢णɉ कȧ संÉया से ͪवभािजत करके कȧ 
जाती है, इसͧलए सभी Ĥे¢णɉ मɅ अचर 
जोड़ने से योग बढ़ता है लेͩकन गणना 
अपǐरवǓत[त रहती है। 

2 

The probability of any impossible event is 0, 

and the probability of a certain event is 1.ͩकसी 
भी असंभव घटना कȧ ĤाǓयकता 0 होती है, और 
ͩकसी Ǔनिæचत घटना कȧ ĤाǓयकता 1 होती है। 

Probability is a measure that distributes 
outcomes between 0 and 1, ensuring total 

probability sums to ĤाǓयकता एक माप है 
जो पǐरणामɉ को 0 और 1 के बीच ͪवतǐरत 
करती है, िजसस ेकुल ĤाǓयकता 1 हो जाती 
है। 

3 
The empirical relationship between mean, 
median, and mode is given by:Mode = 

This formula helps in estimating the mean 

when the mode and median are known.यह 
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S. 
No. 

Assertion  Reason  

3(Median) - 2(Mean)माÚय, माÚयक और 
बहुलक के बीच अनुभवजÛय संबंध Ǒदया गया 
है: बहुलक = 3(माÚयक) - 2(माÚय) 

सूğ माÚय का अनुमान लगाने मɅ मदद 
करता है जब बहुलक और माÚयक £ात 
होते हɇ। 

4 

The probability of an event is calculated as the 
number of favorable outcomes divided by the 

total outcomes.ͩकसी घटना कȧ ĤाǓयकता 
अनुकूल पǐरणामɉ कȧ संÉया को कुल पǐरणामɉ 
कȧ संÉया से ͪवभािजत करके गणना कȧ जाती 
है। 

For a fair die, each face has an equal 

probability of appearing.एक Ǔनçप¢ पासे 
के ͧलए, Ĥ×येक फलक के आने कȧ समान 
ĤाǓयकता होती है। 

5 

The median is the value that lies in the middle 
when data is arranged in ascending 

order.माÚयक वह मान है जो आंकड़ɉ को 
आरोहȣ Đम मɅ åयविèथत करने पर बीच मɅ 
िèथत होता है। 

The median always represents the most 

frequent value in the data set.माÚयक 
हमेशा आंकड़ɉ के समूह मɅ सबसे बार आने 
वाले मान को दशा[ता है। 

6 

The sum of probabilities of an event and its 

complement is always 1.ͩकसी घटना और 
उसकȧ पूरक घटना कȧ ĤाǓयकताओं का योग 
हमेशा 1 होता है। 

If an event occurs with probability p, its 
complement occurs with probability 1 - p. 

यǑद कोई घटना p ĤाǓयकता से घǑटत होती 
है, तो उसकȧ पूरक घटना 1 - p ĤाǓयकता से 
घǑटत होती है। 

 
 

MCQs  

Q.No. Ĥæन (Question) 
उƣर ͪवकãप 

(Answer Options) 

1 

यǑद आंकड़ɉ के ͩकसी समूह का माÚय 40 है और Ĥ×येक Ĥे¢ण 
को 2 से गुणा ͩकया जाता है, तो नया माÚय Èया होगा? 

If the mean of a data set is 40 and each observation is 
multiplied by 2, what will be the new mean? 

(A) 40  

(B) 80  

(C) 20  

(D) 60  

2 
वगȸकृत आवृͪ ƣ ͪवतरण का बहुलक वह मान है जो: 
The mode of a grouped frequency distribution is the value 
that: 

(A) सबसे अͬधक 
आवृͪ ƣ वाला होता है 
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Q.No. Ĥæन (Question) 
उƣर ͪवकãप 

(Answer Options) 

(Occurs most 

frequently) 

(B) मािÚयका के 
बराबर होता है  

(Is equal to median) 

(C) सभी Ĥे¢णɉ का 
औसत होता है 

 (Is the average of all 

observations) 

(D) माÚय से अͬधक 
होता है (Is greater 

than mean) 

3 

एक बैग मɅ 2 लाल, 3 नीले और 5 हरे गɅद हɇ। एक गɅद याǺिÍछक 
Ǿप से Ǔनकालȣ जाती है। लाल गɅद Ǔनकलने कȧ ĤाǓयकता Èया 
है? 

A bag contains 2 red, 3 blue, and 5 green balls. What is the 
probability of drawing a red ball? 

(A) 1/5 (एक-पाँचवां) 
(B) 1/2 (आधा) 
(C) 1/3 (एक-Ǔतहाई) 
(D) 2/10 (दो-दसवां) 

4 

दो Ǔनçप¢ पासे फɅ के जाते हɇ। 7 का योग ĤाÜत करने कȧ 
ĤाǓयकता Èया है? 

Two fair dice are rolled. What is the probability of getting a 
sum of 7? 

(A) 1/6 (एक-छठा) 
(B) 1/12 (एक-बारहवां) 
(C) 1/4 (एक-चौथाई) 
(D) 1/36 (एक-
छƣीसवां) 

5 
{3, 7, 9, 15, 21} आंकड़ɉ के समूह का मािÚयका Èया है? 

The median of the data set {3, 7, 9, 15, 21} is: 

(A) 7 (सात) 
(B) 9 (नौ) 
(C) 15 (पंġह) 
(D) 21 (इÈकȧस) 

6 

यǑद 10 संÉयाओं का माÚय 20 है, तो इन संÉयाओं का योग Èया 
होगा?If the mean of 10 numbers is 20, what is the sum of these 

numbers? 

(A) 100 (एक सौ)(B) 

200 (दो सौ) 
(C) 400 (चार सौ) 
(D) 20 (बीस) 
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Q.No. Ĥæन (Question) 
उƣर ͪवकãप 

(Answer Options) 

7 

एक पासा दो बार फɅ का जाता है। दोनɉ बार सम संÉया ĤाÜत 
करने कȧ ĤाǓयकता Èया है? 

A dice is rolled twice. What is the probability of getting an 
even number on both rolls? 

(A) 1/2 (आधा) 
(B) 1/3 (एक-Ǔतहाई) 
(C) 1/4 (एक-चौथाई) 
(D) 1/9 (एक-नवां) 

8 

40 छाğɉ कȧ क¢ा मɅ, एक परȣ¢ा मɅ ĤाÜत औसत अकं 75 हɇ। यǑद 
दो छाğ अनुपिèथत थे और उनके अकं 0 माने गए थे, तो सहȣ 
माÚय Èया होगा?In a class of 40 students, the mean marks 

obtained in a test is 75. If two students were absent, their 
marks were assumed to be 0. What is the corrected mean? 

(A) 70  

(B) 72.5  

(C) 75  

(D) 78.95 

9 

एक बैग मɅ 4 लाल, 5 नीले और 6 हरे गɅद हɇ। यǑद एक गɅद 
याǺिÍछक Ǿप से चुनी जाती है, तो इसकȧ ĤाǓयकता Èया है ͩक 
यह न तो लाल होगी और न हȣ हरȣ?A bag contains 4 red, 5 

blue, and 6 green balls. What is the probability that it is 
neither red nor 

       (A) 5/15 

       (B) 4/15 

       (C) 6/15 

       (D) 9/15 

 

 

 

Very Short Questions-1 Marks 

Q.No. Question (English) Ĥæन (ǑहÛदȣ) 

1 
The mean of five numbers is 20. If one 
number is excluded, the mean becomes 
22. Find the excluded number. 

पाँच संÉयाओं का औसत 20 है। यǑद एक 
संÉया को हटा Ǒदया जाए तो औसत 22 हो 
जाता है। हटाई गई संÉया £ात करɅ। 

2 
If the median of the data set {12, 15, x, 18, 
22} is 17, find the value of x. 

यǑद आंकड़ɉ के समूह {12, 15, x, 18, 22} का 
मािÚयका 17 है, तो x का मान £ात करɅ। 

3 
A student calculates the mode of a data set 
as 45. If one more value 45 is added, how 
will the mode change? 

एक छाğ ने ͩकसी आंकड़ɉ के समूह का 
बहुलक 45 Ǔनकाला। यǑद एक और 45 जोड़ा 
जाए, तो बहुलक कैसे बदलेगा? 
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Q.No. Question (English) Ĥæन (ǑहÛदȣ) 

4 
A bag contains 4 red balls and 6 blue 
balls. One ball is drawn at random. What 
is the probability of drawing a red ball? 

एक थलैे मɅ 4 लाल गɅदɅ और 6 नीलȣ गɅदɅ हɇ। 
याǺिÍछक Ǿप से एक गɅद Ǔनकालȣ जाती है। 
लाल गɅद Ǔनकालने कȧ ĤाǓयकता Èया है? 

5 
The mean of 10 numbers is 50. If each 
number is increased by 5, find the new 
mean. 

10 संÉयाओं का औसत 50 है। यǑद Ĥ×येक 
संÉया मɅ 5 जोड़ Ǒदया जाए, तो नया औसत 
£ात करɅ। 

6 
The probability of an event occurring is 
0.4. What is the probability of the event 
not occurring? 

ͩकसी घटना के होने कȧ ĤाǓयकता 0.4 है। 
घटना के न होने कȧ ĤाǓयकता Èया है? 

7 
The median of a set of 7 numbers is 25. If 
the largest number increases by 10, what 
will be the new median? 

7 संÉयाओं के सटे कȧ मािÚयका 25 है। यǑद 
सबसे बड़ी संÉया मɅ 10 जोड़ Ǒदया जाए, तो 
नई मािÚयका Èया होगी? 

8 
A die is rolled once. What is the 
probability of getting an even number? 

एक पासा एक बार फɅ का जाता है। सम संÉया 
आने कȧ ĤाǓयकता Èया है? 

 

2-Marks Questions 

Ĥæन 
नंबर) 

Ĥæन 

1 

A bag contains 6 red, 4 blue, and 5 green balls. One ball is drawn randomly. What is 

the probability that the ball drawn is not red? एक थैले मɅ 6 लाल, 4 नीले और 5 हरे 
गɅद हɇ। याǺिÍछक Ǿप से एक गɅद Ǔनकालȣ जाती है। ĤाǓयकता £ात करɅ ͩक Ǔनकालȣ 
गई गɅद लाल नहȣं है। 

2 
Two fair dice are rolled simultaneously. Find the probability of getting a sum of 9. दो 
Ǔनçप¢ पासे एक साथ फɅ के जाते हɇ। 9 का योग ĤाÜत करने कȧ ĤाǓयकता £ात करɅ। 

3 

A helicopter is reported to have crashed somewhere in a rectangular area of 100 km². 
If there is a lake of 20 km² within this area, what is the probability that the helicopter 

crashed in the lake? एक हेलȣकॉÜटर के दघु[टनाĒèत होने कȧ सूचना ͧमलती है ͩक वह 
100 ͩकमी² के एक आयताकार ¢ेğ मɅ ͬगरा है। यǑद उस ¢ेğ मɅ 20 ͩकमी² कȧ झील है, 

तो यह Èया ĤाǓयकता है ͩक हेलȣकॉÜटर झील मɅ ͬगरा है? 

4 A courier company has 50 parcels: 20 for Kolkata, 15 for Mumbai, and the rest for 
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Ĥæन 
नंबर) 

Ĥæन 

Delhi. If a parcel is chosen at random, what is the probability that it is for Delhi? एक 
कूǐरयर कंपनी के पास 50 पास[ल हɇ, िजनमɅ से 20 कोलकाता भजे ेजाने हɇ, 15 मुंबई और 
बाकȧ Ǒदãलȣ। यǑद एक पास[ल याǺिÍछक Ǿप से चुना जाए, तो उसके Ǒदãलȣ भेजे 
जाने वाले पास[ल होने कȧ Èया ĤाǓयकता है? 

5 

A card is drawn from a well shuffled deck of 52 cards. Find the probability that the 

card drawn is either a red card or face card. 52 ताश के पƣɉ कȧ अÍछȤ तरह फɅ टे गए 
गɬडी मɅ से एक पƣा Ǔनकाला जाता है। यह £ात कȧिजए ͩक Ǔनकाला गया पƣा या 
तो लाल रंग का हो या ͬचğ वाला पƣा हो। 

6 

A researcher collected the heights (in cm) of 50 students in a school and grouped the 
data as follows: 

एक शोधकता[ ने èकूल मɅ 50 छाğɉ कȧ ऊँचाई (सेमी मɅ) एकğ कȧ और डटेा को इस 
Ĥकार सारणीकृत ͩकया: 

Height (cm) 140-150 150-160 160-170 170-180 180-190 

No. of Students 6 8 15 12 9 

. No. of Students: 6, 8, 15, 12, 9. Find the median height of the students using the 

cumulative frequency method. ऊंचाई (सेमी): 140-150, 150-160, 160-170, 170-180, 

180-190। छाğɉ कȧ संÉया: 6, 8, 15, 12, 9। संचयी आवृͪ ƣ ͪवͬध का उपयोग करके 
छाğɉ कȧ माÚयक ऊँचाई £ात करɅ। 

7 

If the mean of 7 numbers is 30 and the mean of 3 of these numbers is 20, find the 

mean of the remaining 4 numbers. यǑद 7 संÉयाओ ंका माÚय 30 है और इनमɅ से 3 

संÉयाओं का औसत 20 है, तो शषे 4 संÉयाओं का औसत £ात करɅ। 

8 

The following data represents the number of hours studied by 12 students: 
{4, 6, 8, 10, 10, 12, 14, 14, 16, 18, 20, 22} 

Calculate the following: 
a) Mean 
b) Median 

Ǔनàन आँकड़ े12 छाğɉ ɮवारा पढ़ाई ͩकए गए घंटɉ को दशा[ते हɇ: 
{4, 6, 8, 10, 10, 12, 14, 14, 16, 18, 20, 22} 

Ǔनàनͧलͨखत कȧ गणना कȧिजए: 
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Ĥæन 
नंबर) 

Ĥæन 

a) औसत (Mean) 

b) मािÚयका (Median) 

 

9 

In a frequency distribution, the mean is 18 and the sum of the frequencies is 150. If the 
frequencies of the first 5 classes are 12, 16, 20, 18, and 15, find the total sum of the 
observations in the distribution. 

एक आवृͪ ƣ ͪवतरण मɅ माÚय 18 है और आवृͪ ƣयɉ का योग 150 है। यǑद पहले 5 वगɟ 
कȧ आवृͪ ƣयाँ 12, 16, 20, 18 और 15 हɇ, तो ͪवतरण मɅ Ĥे¢णɉ का कुल योग £ात करɅ। 

10 

The heights of 7 students are given as: {140 
cm, 150 cm, 155 cm, 160 cm, 162 cm, 165 
cm, 170 cm}. If the median height is 
increased by 5 cm, what will be the new 
median height? 

7 छाğɉ कȧ ऊंचाइयाँ Ǔनàनͧलͨखत हɇ: {140 

सेमी, 150 सेमी, 155 सेमी, 160 सेमी, 162 सेमी, 
165 सेमी, 170 सेमी}। यǑद मािÚयका कȧ 
ऊंचाई मɅ 5 सेमी जोड़ दȣ जाती है, तो नई 
मािÚयका ऊंचाई Èया होगी? 

Understands the impact 
of changing the median 
on a set of data. 

Analysis 

11 

 A school has 500 students, out of which 
300 are girls. If a student is selected at 
random, find the probability that: 
(a) The selected student is a girl. 
(b) The selected student is a boy. 

 एक èकूल मɅ 500 छाğ हɇ, िजनमɅ से 300 

छाğाएँ हɇ। यǑद याǺिÍछक Ǿप से एक 
ͪवɮयाथȸ चुना जाए, तो Ǔनàनͧलͨखत 
घटनाओं कȧ ĤाǓयकताएँ £ात कȧिजए: 
(क) चुना गया ͪवɮयाथȸ छाğा हो। 
(ख) चुना गया ͪवɮयाथȸ छाğ हो। 

 

Applies knowledge of 
probability to real-life 
contexts 

Level 3 – Apply 
(अनĤुयोग èतर( 
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4 Marks Questions 

Q1: The following table shows the marks obtained by 100 students in a Mathematics 
examination: 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Frequency 5 8 12 15 20 18 10 6 4 2 

Find the mean marks using the assumed mean method. 

एक èकूल कȧ क¢ा 10वीं कȧ गͨणत परȣ¢ा मɅ 100 छाğɉ ɮवारा ĤाÜत अकंɉ का ͪवतरण 
Ǔनàनͧलͨखत है: 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Frequency 5 8 12 15 20 18 10 6 4 2 

किãपत  माÚय ͪवͬध का उपयोग करके अकंɉ का औसत £ात कȧिजए। 

Q2: The table below represents the income distribution of workers in a factory: 

Income (₹) 0-5000 5000-10000 10000-15000 15000-20000 20000-25000 25000-30000 

No. of Workers 7 12 18 20 15 8 

Determine the median income. 

 एक कारखाने मɅ Įͧमकɉ कȧ आय ͪवतरण Ǔनàनͧलͨखत है: 

Income (₹) 0-5000 5000-10000 10000-15000 15000-20000 20000-25000 25000-30000 
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Income (₹) 0-5000 5000-10000 10000-15000 15000-20000 20000-25000 25000-30000 

No. of Workers 7 12 18 20 15 8 

मािÚयका आय £ात कȧिजए। 

 

Q3: The table below shows the age distribution of people visiting a shopping mall: 

Age Group (Years) 10-20 20-30 30-40 40-50 50-60 60-70 

No. of Visitors 15 22 28 30 20 10 

Find the mode of the age distribution.. 

 एक शॉͪपगं मॉल मɅ आने वाले लोगɉ कȧ आयु ͪवतरण Ǔनàनͧलͨखत है: 

Age Group (Years) 10-20 20-30 30-40 40-50 50-60 60-70 

No. of Visitors 15 22 28 30 20 10 

आयु ͪवतरण का बहुलक £ात करɅ। 

Q4: A standard deck of 52 playing cards is shuffled, and one card is drawn at random. Find the 
probability that the card drawn is: 
(a) A face card 
(b) A red king 
(c) A spade  
(d) An ace of diamond. 

 एक ताश के 52 पƣɉ कȧ गɬडी मɅ से याǺिÍछक Ǿप से एक पƣा Ǔनकाला जाता है। उस पƣे के 
होने कȧ ĤाǓयकता £ात कȧिजए: 
(क) फेस काड[ (ͬचğ वाला पƣा) 
(ख) लाल बादशाह  

(ग) हुकुम का पƣा  
(घ) ईट का इÈका   
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Q5: A fair die is rolled twice. Find the probability that: 
(a) The sum of the numbers obtained is at least 9. 
(b) A prime number appears on both rolls. 

 एक Ǔनçप¢ पासा दो बार फɅ का जाता है। Ǔनàनͧलͨखत घटनाओं कȧ ĤाǓयकताएँ £ात कȧिजए: 

(क( ĤाÜत सÉंयाओं का योग कम से कम 9 हो। 

(ख( दोनɉ बार एक अभाÏय संÉया आए। 

Q6: A fair coin is tossed three times. Find the probability of getting: 
(a) Exactly two heads 
(b) At least one tail 

 एक Ǔनçप¢ ͧसÈका तीन बार उछाला जाता है। Ǔनàनͧलͨखत घटनाओं कȧ ĤाǓयकताएँ £ात 
कȧिजए: 
(क) ͧसफ[  दो हेɬस ͧमलɅ। 
(ख) कम से कम एक टेल ͧमले। 

Q7: एक सवȶ¢ण से पता चला ͩक 1000 पǐरवारɉ मɅ से 400 के पास कार, 300 के पास बाइक, और 

150 के पास दोनɉ हɇ। यǑद याǺिÍछक Ǿप से एक पǐरवार चुना जाए, तो Ǔनàनͧलͨखत घटनाओं 
कȧ ĤाǓयकताएँ £ात कȧिजए: 
(क) पǐरवार के पास कार या बाइक हो। 
(ख) पǐरवार के पास न तो कार हो और न हȣ बाइक। 

5-Marks Questions 

1. A teacher recorded the marks obtained by 50 students in a Mathematics exam, as shown in the 
table below: 

Marks (x) 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

Number of Students (f) 3 5 8 12 10 5 4 2 1 

Calculate the mean marks of students using the Assumed Mean Method. 

कािãपत माÚय ͪवͬध का उपयोग करके छाğɉ के औसत अकं कȧ गणना करɅ। 

Competency | द¢ता: Data Analysis & Interpretation  डटेा ͪवæलेषण एवं åयाÉया 
Cognitive Level | सं£ाना×मक èतर: Evaluate  | मूãयांकन  
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2. A company recorded the monthly salaries (in ₹1000s) of employees as follows: 

Salary (₹1000s) 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

No. of Employees 2 8 12 20 30 18 7 3 

Find the median salary of the employees. 

कम[चाǐरयɉ के मािÚयका वेतन कȧ गणना करɅ। 

Competency | द¢ता: Data Analysis & Interpretation | डटेा ͪवæलेषण एवं åयाÉया 
Cognitive Level | सं£ाना×मक èतर: Evaluate (Level 4) | मूãयांकन (èतर 4) 

3.  The runs scored by 60 players in a cricket tournament are given below: 

Runs 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

No. of Players 5 8 15 20 6 3 2 1 

Determine the modal class and mode of the given data. 

Ǒदए गए आंकड़ɉ के बहुलक वग[ और बहुलक का Ǔनधा[रण करɅ। 

Competency | द¢ता: Data Interpretation & Problem-Solving | आंकड़ɉ कȧ  åयाÉया और समèया 
समाधान 

 Cognitive Level | सं£ाना×मक èतर: Apply (Level 3) | लागू करɅ (èतर 3) 

4.  Two fair dice are rolled together. Find the probability that: 
a) The sum of the numbers is greater than 9. 
b) The numbers obtained are prime. 
c) The numbers obtained are consecutive. 
d) The numbers obtained in both dice are same 

दो Ǔनçप¢ पासे एक साथ फɅ के जाते हɇ। इसकȧ ĤाǓयकता £ात करɅ ͩक: 
a) संÉयाओं का योग 9 से अͬधक है। 
b) ĤाÜत सÉंयाएँ अभाÏय हɇ। 
c) ĤाÜत सÉंयाए ँलगातार हɇ। 
d) दोनɉ पासɉ पर ĤाÜत सÉंया समान हɇ।  
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Competency | द¢ता: Logical Reasoning & Probability | ताͩक[ क तक[  एवं ĤाǓयकता 
 Cognitive Level | सं£ाना×मक èतर: Apply (Level 3) | लागू करɅ (èतर 3) 

5.  A deck of 52 playing cards is shuffled. A card is drawn randomly. 
Find the probability that: 
a) The card is a face card (King, Queen, or Jack). 
b) The card is either a spade or a red card. 
c) The card is not an ace. 

d)The card is red queen 

52 ताश के पƣɉ का एक डके फɅ टा जाता है। एक काड[ याǺिÍछक Ǿप से Ǔनकाला जाता है। 
इसकȧ ĤाǓयकता £ात करɅ ͩक: 
a) काड[ फेस काड[ है (राजा, रानी, या गुलाम)। 
b) काड[ या तो हुकुम या लाल रंग का है। 
c) काड[ इÈका नहȣं है।  

d) काड[ लाल बेगम है 

 

Competency | द¢ता: Application of Probability in Gaming | खेलɉ मɅ ĤाǓयकता का अनुĤयोग 

 Cognitive Level | सं£ाना×मक èतर: Apply (Level 3) | लागू करɅ (èतर 3) 

6.  The table below shows the daily wages of workers in a factory: 

Wages (₹) 200-250 250-300 300-350 350-400 400-450 450-500 

No. of Workers 5 8 15 20 12 10 

Calculate the mean daily wage of the workers using the Assume mean method. 

किãपत माÚय ͪवͬध का उपयोग करके कम[चाǐरयɉ के दैǓनक औसत वेतन कȧ गणना करɅ। 

Competency | द¢ता: Data Handling & Analysis | डटेा Ĥबंधन एवं ͪवæलेषण 

 Cognitive Level | सं£ाना×मक èतर: Evaluate (Level 4) | मूãयांकन (èतर 4) 

7.  The time taken (in minutes) by 40 students to complete a mathematics test is given below: 

Time (min) 20-30 30-40 40-50 50-60 60-70 70-80 

No. of Students 4 8 10 6 7 5 
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Find the median time taken by the students. 

छाğɉ ɮवारा ͧलया गया मािÚयका समय £ात करɅ। 

Competency | द¢ता: Data Representation & Interpretation | डटेा ĤèतुǓत और åयाÉया 
  Cognitive Level | सं£ाना×मक èतर: Apply (Level 3) | लागू करɅ (èतर 3) 

8. A company recorded the number of products sold per day as follows: 

Products Sold 0-50 50-100 100-150 150-200 200-250 250-300 

No. of Days 2 5 10 18 12 3 

Determine the mode of the given data. 

Ǒदए गए डटेा का बहुलक Ǔनधा[ǐरत करɅ। 

Competency | द¢ता: Analytical Thinking in Business Data | åयापार डटेा मɅ ͪवæलेषणा×मक सोच 

 Cognitive Level | सं£ाना×मक èतर: Apply (Level 3) | लागू करɅ (èतर 3) 

9. The following table gives the age distribution of people in a town. The median age is given 
as 47 years. Find the missing frequency f. 

Age (Years) 0-20 20-40 40-60 60-80 80-100 

No. of People 12 30 F 25 8 

दȣ गई ताͧलका मɅ एक कèबे मɅ रहने वाले लोगɉ कȧ आयु ͪवतरण Ǒदया गया है। मािÚयका 47 

वष[ दȣ गई है। अ£ात आवृͪ ƣ f £ात करɅ। 

Competency | द¢ता: Data Analysis & Estimation | डटेा ͪवæलेषण और अनुमान 

Cognitive Level | सं£ाना×मक èतर: Analyze (Level 4) | ͪवæलेषण करɅ (èतर 4) 

 

10.  A researcher collected data on the monthly expenses (in ₹) of 50 families and prepared the 
following distribution: 

Expenses (₹) 5000-10000 10000-15000 15000-20000 20000-25000 25000-30000 
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Expenses (₹) 5000-10000 10000-15000 15000-20000 20000-25000 25000-30000 

No. of Families 5 12 18 10 5 

Find the mean monthly expense of a family using the assumed mean method. 

किãपत माÚय ͪवͬध का उपयोग करके एक पǐरवार का माÚय माͧसक åयय £ात करɅ। 

Competency | द¢ता: Application of Statistics in Economics | अथ[शाèğ मɅ सांिÉयकȧ का 
अनुĤयोग 

Cognitive Level | सं£ाना×मक èतर: Apply (Level 3) | लागू करɅ (èतर 3) 

Q11. A traffic survey records the speed (in km/hr) of 100 vehicles on a busy road as follows: 

Speed (km/hr) 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

Frequency 5 12 18 25 20 12 8 

Calculate the mean speed of vehicles using the assumed mean method. 

(वाहनɉ कȧ औसत गǓत को किãपत माÚय ͪवͬध ɮवारा गणना करɅ।) 

 Competency: Data Analysis & Interpretation 
 Cognitive Level: Application 

Q12. 

The monthly salaries (in Rs.) of 50 employees in a company are given in the following table: 

Salary (Rs.) 5000-10000 10000-15000 15000-20000 20000-25000 25000-30000 

No. of Employees 7 10 15 12 6 

Determine the median salary of the employees. 

(कम[चाǐरयɉ के वेतन का माÚयक £ात करɅ।) 

 Competency: Statistical Computation 
 Cognitive Level: Analysis 
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Q13. 

A teacher recorded the marks obtained by 60 students in a math test as follows: 

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 

No. of Students 2 5 7 10 12 8 6 5 3 2 

Find the modal class and mode of the given distribution. 

(Ǒदए गए ͪवतरण का बहुलक वग[ और बहुलक £ात करɅ।) 

 Competency: Identifying Central Tendency 
 Cognitive Level: Understanding 

Q14. The table below represents the daily income (in ₹) of 80 workers in a factory: 

Income (₹) 200-400 400-600 600-800 800-1000 1000-1200 1200-1400 

No. of Workers 5 10 20 25 12 8 

Estimate the mean daily income using the Assume mean method. 

(किãपत माÚय ͪवͬध का उपयोग करके दैǓनक औसत आय का अनुमान लगाएँ।) 

 Competency: Data Analysis & Interpretation 
 Cognitive Level: Application 

 

 

 

 

 

 

Case Studies 
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Case Study 1:  

A school conducted a survey on the marks obtained by students in Mathematics. The data was 
grouped as follows: 

Marks Range No. of Students 

0 – 20 5 

20 - 40 8 

40 - 60 15 

60 - 80 10 

80 - 100 12 

Using this data, answer the following questions: 

1. Find the class mark for the interval 40 - 60. (1 Mark) 
2. Calculate the mean marks using the assumed mean method if the assumed mean is 50. 

(1 Mark) 
3. Determine the modal class of the data. (1 Mark) 
4. Find the median class and estimate the median. (2 Marks) 

एक èकूल ने गͨणत मɅ छाğɉ ɮवारा ĤाÜत अकंɉ पर एक सवȶ¢ण ͩकया। आंकड़ɉ को  
Ǔनàनानुसार वगȸकृत ͩकया गया: 

अकं Įेणी छाğɉ कȧ संÉया 

0 - 20 5 

20 - 40 8 

40 - 60 15 

60 - 80 10 

80 - 100 12 
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इस डटेा का उपयोग करके Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

1. 40 - 60 अतंराल के ͧलए वग[ ͬचÛह £ात करɅ। (1 अकं)  

2. मान ͧलया गया माÚय ͪवͬध का उपयोग करके माÚय £ात करɅ यǑद किãपत माÚय 50 

है। (1 अकं) 
3. आंकड़ɉ कȧ बहुलक वग[ Ǔनधा[ǐरत करɅ। (1 अकं)  

4. मािÚयका वग[ £ात करɅ और मािÚयका का अनुमान लगाएं। (2 अकं( 

Case Study 2:  

 
A factory produces electronic devices, and the number of defective devices in different batches 
was recorded as follows: 

Batch Size No. of Defective Devices 

0 - 50 5 

50 - 100 8 

100 - 150 10 

150 - 200 12 

200 - 250 15 

Using this data, answer the following questions: 

1. Find the class mark for the interval 100 - 150. (1 Mark) 
2. Calculate the mean number of defective devices using the step-deviation method if the 

assumed mean is 125. (1 Mark) 
3. Determine the modal class. (1 Mark) 
4. Find the median class and estimate the median number of defective devices. (2 Marks) 

एक फैÈĚȣ इलेÈĚॉǓनक ͫडवाइस का उ×पादन करती है, और ͪवͧभÛन बैचɉ मɅ दोषपूण[ ͫडवाइसɉ 
कȧ संÉया को Ǔनàनानुसार दज[ ͩकया गया: 
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बैच आकार दोषपूण[ ͫडवाइसɉ कȧ संÉया 

0 - 50 5 

50 - 100 8 

100 - 150 10 

150 - 200 12 

200 - 250 15 

इन आंकड़ɉ का उपयोग करके Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

1. 100 - 150 अतंराल के ͧलए वग[ ͬचÛह £ात करɅ। (1 अकं) 
2. यǑद अनमुाǓनत माÚय 125 हो, तो पद ͪवचलन ͪवͬध का उपयोग करके दोषपणू[ उपकरणɉ कȧ 

औसत सÉंया कȧ गणना कȧिजए। )1 अकं( 
3. बहुलक Įेणी Ǔनधा[ǐरत करɅ। (1 अकं) 
4. मािÚयका Įेणी £ात करɅ और दोषपूण[ ͫडवाइसɉ कȧ मािÚयका संÉया का अनुमान लगाएं। 

(2 अकं) 

 

Case Study 3:  

A sports club organizes a lucky draw competition for its members. The details of the tickets 
distributed are given below: 

Ticket Type No. of Tickets 

Gold 50 

Silver 100 

Bronze 150 

One ticket is drawn randomly. Answer the following questions: 

1. Find the probability of drawing a Gold ticket. (1.5 Mark) 



 

19 | P a g e  
 

2. What is the probability of drawing a Silver or a Bronze ticket? (1.5 Mark) 
3. If a special prize is given to Gold ticket holders and the probability of winning that prize 

is 0.2, find the probability that a randomly chosen Gold ticket wins the special prize. (2 
Marks) 

एक खेल Èलब अपने सदèयɉ के ͧलए एक लकȧ Ĝा ĤǓतयोͬगता आयोिजत करता है। Ǒटकटɉ के 
ͪवतरण का ͪववरण Ǔनàनानुसार है: 

Ǒटकट Ĥकार Ǒटकटɉ कȧ संÉया 

गोãड 50 

ͧसãवर 100 

ĦॉÛज़ 150 

एक Ǒटकट याǺिÍछक Ǿप से Ǔनकाला जाता है। Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

1. गोãड Ǒटकट Ǔनकाले जाने कȧ ĤाǓयकता £ात करɅ। (1.5 अकं) 
2. ͧसãवर या ĦॉÛज़ Ǒटकट Ǔनकाले जाने कȧ ĤाǓयकता Èया होगी? (1.5 अकं) 
3. यǑद गोãड Ǒटकट धारकɉ को ͪवशषे पुरèकार ͧमलता है और पुरèकार जीतने कȧ 

ĤाǓयकता 0.2 है, तो याǺिÍछक Ǿप से चुने गए गोãड Ǒटकट के पुरèकार जीतने कȧ 
ĤाǓयकता £ात करɅ। (2 अकं() 

 


